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WALI: Add ones to three-
digit numbers







St v o circle and start Jromy S4-.
Pass the beanbag around the, circle, counting orv irv steps of. |.
I} I shout ‘swap’, change direction



340 + 2 = 34/



340 + 4 = 340



345+ 5= 300



AN
A\

BARRIER CROSSING




Towonk,thi&mmgowcamusea/mng@o}meﬂwod&.

.Th@}u\stmeﬂﬂod/gow
carv use s usings your
fingers.

Plucethf/tu%,@st

1 The answer ts 352



Ar\oﬂmer\wa%/ tohelpgowwonhﬂrﬂ&oubt&bgus@nmb@bﬂnd&tom.

.PWWWWWWW.
7

-

350 352

Count; 5 to geb to- 350 |
| ot ot P The answen is 352.

hanmrungzz.






Reofsoningg

Adriel's lootball tearm hase,
scored, |73 gool@w(ﬁanﬂww

G*




Wor\kmgzwiﬂwa/pw\fnm
plag/ﬂwepﬂw@s}wotoub
game. Followe the
instructions on the sheet
and colour i the balls
o.ccor\ding/togounteom&.
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WALI: Add tens to three-
digit numbers







St v @ circle and start Jrom 24,
Pass the beanbag around the circle; counting orv v steps of 10.
I} I shout ‘swap’, change direction



1 ntroduction

Tens
Ones
Ones
Tens
Ones

Tens

/9 + 20 = 45

* The ones column NE\/ER
* The tens column ALV\/AYS

+ Other (larger) columns MAY change



330 + 10 =345



330 + 20 =300



330 + 20 =335



AN
iy

BARRIER CROSSING




To work this out, gowcamuse/@mxg,@o}meﬂwod&.

l;%jgﬁﬁ“%?ﬁ 335+ 70 -
I Place the biggest
numbfpwgoun

.Holdﬁﬁmgmup

Cax\r\gzorvco«mhngz70nwr\e/
ﬁr\om335 usuxgzg,oun(flmgﬂ‘s
whﬁlpgou/couni}wten&.

BN The answer is 405,




Ar\otha\wmé/ tohdpgowwonhth@oui}t&b%usmg/mmbﬂmbond&tomO.

" | Place the biggest number tn your head,
+/0

-

335 400 405
Count 65 to geb to |
ount 65 tor geb e " The answen is 405,

r\ejmmnmgzs



Fluenciy

X

A

. 37 + 50 -

2.53 + 20 -

3.26 + 30 -

L. 4| + 50 -

5.932 + 20 -

Q

=/
B C
| 73 + 20 - | 245 + 4.0 -
2.829 + 30 - 2.729 + 60 -
3.33/ + 40O - 3.820 + 90 -
h.219 + 80 - h 485 + 40 -
5.762 + 4.0 - 5.2498 + 30 -




Rewsonjmgg ==
Mr Clark: said: X

Irvﬂf\@supﬂmmket There are 1490 opplﬁvsondfzo
pmf,appl@s Howmoméxopplmandjpmeapplﬂs/om
&\maltogfﬂw7

Bob:
"Easy, there must be [92!"

o@o

Bob/did/wmng/.



PF‘ObiB(Y\/SO'lN*U’ng ;
"3 odd/numbfpszadd/uptomkf/mwmnumbf»

. Q
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WALI: Add, hundreds to
Urm—digx’i} nuMmbenrs







St v @ circle and; start from, 105,
Pass the beanbag around, the circle, counting orv irv steps o, 100.
I} I shout ‘swap/, change direction.



1 ntroduction

o= Of]
T

Tens
Ones
Hundreds
Tens
Ones
Hundreds
OO = %4

34 + 200 = 284

* The ones column NEVER changes.
. _h@ten&colummNE\/ERchangw
* The hundreds columrn ALWAY'S changes

+ Other (largen) columns MAY change
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Towmhﬂu&out,gmmuse@mg@oﬁmfﬂwod&.

J T fist mathod you

fingers.

Place/’d\ejbxg,g,@st
numb,er\uvgow\

Hold/ll-(ﬁmg,er\s,up Each
&ngent&worﬂrﬂoo

Cax\r\g/on/countmg/uwm()s/
@r\orm354 ufsmg/w(ﬁmgﬂ\s
tohdpgow

The answer s /54 90ldcom&
Whabdogownohwoboub’dﬂedxgxbs?




Anoﬂwmwa%/tohdpgmwmhﬂu&oubl&u&ng@blmknmxbmhn&

B Ploce the biggest number ab the beginning of the

number line.
+400
N N N
394 454 SRY 654 154
- P o of, 100, @Wﬂ“ Bl The cnsver is 754 gold
spoces orvthe: rumber OIS,

line.



330 + 100 =435



335 + 000 =335



330 + 600 =435



Fluency

. 37 + 100 -
2. 94 + 100-
3.103 + 100 -
4.485 + 100 -
5. 358 + 200 -
6. 642 + 300 -

i

. 382 + 100 -
2. 7126 + 100 -
3. 104 + 800 -
4.372 + 600 -
5.3 + 900 -

6. 813 + 200 -

o@o



Reofsoningg
/\/\mvva&duswwhﬂ\maﬂn&om’dﬂ@
plwggmundw«ﬂwhﬁm}nmds She said thaty she
ﬁdbwmwwumwhms}wwa&woﬁw
oub 843 + 100 bub turned crispy when, she had,

to- weorks out 44-3 + 100,

Why do- yow think she found, the second

Wmmudnmh@dx%{wlﬂ? Ex{ﬂﬂuwu/smgz
Wsentencestoﬁw\s/.




PMMSW ; ?./1

Tom was delighted when he discosered, .
Captainy Patchv's treasure chests! ther

Inside; there were |/8 rubies , 200 emeralds, 100 crystals
and, 400 goldcoums/ Howman%/pxﬁceﬁzoflb\eoﬁumwm
&\maltogfihef\?

o @!‘lhﬁ;}
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WALT: solue problems
ncluding + and -




Key Vocahulary

'SUbi_I‘QCt °OF1EJS/

* less * [ens

* Groups of e Hurdreds

* Minus . T) |
el bl value
* decrease

* | ess than

* How marwy






delect yer best pirate to emffaz'n these below. ;%rﬁﬁ/

353 538
136 *323




There are 167 books in one classroom and 392 books in the other.
How many books are there altogether in both classrooms?



Jay has a collection of 263 football cards. His brother has 189.
How many more football cards does Jay have?



Jenny has £5.67. She spends £2.85 on a present for her brother.
How much money does she have left?



&y

WWM&WWMWWWMWM

Salty Sam had one chest
with 114 gold coins and
$ another with 126 gold
coins. How many coins did

he have in total?



R@OBONI\%{ ;

Colimsaxa&‘l{fll add/b/wonunxbﬂ\s/fog,eﬂwlcam
o{ltenwox\d&. Sotocheck 3+ 4, I canvdo & -3. 'Is
hf/r\LgJﬂL? EX{ﬂmCoUm's/’dunkmg/.



Problem, Soljvimc;g

Sarah loved to bury her
treasure. In total she buried
379 chests but when she tried »

>
to find them she could only 166 1 213

379

V.G

* = w2 find 166! How many chests has

\- ﬁ&g Sarah lost? N o




